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A glass window has an area of 0.50 m’ and a thickness of 0.60 cm. If the rate of heat flow

between the faces is 500 kJ/hour, find the temperature difference between the window's

faces. K(glass) = 0.80 W/m C°.
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Consider a gas taken through the cyclic process shown in the figure. Calculate the

(a) change in internal energy of the gas during the cycle.
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(b) work done by the gas during the cycle. Ty T—
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(c) heat transfer during the cycle,
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How much ice at =20 "C must be mixed with 0.25 kg of water, initially at 20 °C, in order

for the final temperature to be 0 °C with the ice all melted? Given:cice = 0.53 cal/ eK, Cyater
=1 cal/gk.
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